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When the driver sees this sign, what should the driver do?

Q

> D)

>

1.) Don't go straight or turn left

2.) Turn left or turn right « l

3.) Straight ahead or turn right

)

4.) Do not turn either left or right
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2 Q SEHPH

Why must a driver look over their shoulder before changing
traffic lanes?

o

1.) To check the blind spot of the car. 2.) To change the lanes and do not

‘)) =l ‘)) want to turn on the indicator light
« l signals.

3.) This will allow you to change lanes 4.) To be able to see people walking in
‘)) more quickly. ‘)) the pedestrian area.




%— 03 Q FEHDH

Which picture in the following is correct?
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Both cars arrive at the intersection the same time, which car

has the right to go first?

> D)

>

=D

1.) The car B « 2.) The car arriving at the intersection
)) ‘)) first.
3.) The car A 4.) Both the car A and the car B
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When the driver sees this sign, what should the driver do?

Q

> D

Q FHDH

>

1.) Make a U-turn to the left

2.) Do not make left U-turn

3.) Do not make right U-turn

)

4.) Make a U-turn to the right
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When you drive through puddles, the brake pads get wet.

How can you dry them?

Q SEHPH

=D

o D)

1.) Drive slowly, press brake pedal «
lightly and release several times. |

4

2.) Park the car in neutral gear and
accelerate for 10 minutes.

)

3.) Drive fast

4.) Press brake pedal gently
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When the driver sees this sign, what should the driver do?
b
W
{#%n19
1.) Do not make right U-turn 2.) Make a U-turn to the right.
) )

3.) Do not make left U-turn 4.) Give way to the car or pedestrians

‘)) ‘)) in the lane ahead. J
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What condition does a vehicle need to be in before

registration?

Q SEHPH

> D)

1.) The car must have the correct

) nttines.

2.) The car that inspected by a private
car inspector.

3.) The car must have complete
‘)) fittings and have passed the car
inspection.

L D,

4.) Vehicles purchased from the
general car dealer.
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After driving through the flooded area, which system should
you check first?

> D)

Q FHDF

1.) Engine start system

2.) Suspension

)

3.) Brake system

4.) Electrical system




What should you do when driving a car through the water?

> D

Q SEHPWH

1.) Put on your high beam lights

2.) Accelerate with speed.

)

3.) Accelerate the engine slightly
higher than normal.

4.) Turn on emergency lights




Which of the following should a driver NOT do when driving
through the rain?

> D)

Q SEHPH

1.) Slow down more than usual.

2.) Turn on the wipers

L D

3.) Turn on the emergency lights
throughout the route.

4.) Use more caution.




Which one needs to be checked before driving the car?

Q FHDF

> D)

1.) Check insurance policy.

2.) Have enough rest

)

3.) Renew driving licence

4.) Check tyre pressure, brake, fuel




Are people with severe muscular disease allowed to drive a

vehicle?

> D

Q FHDF

1.) Should not for all cases. J |

2.) Only private vehicles.

)

3.) Yes for all cases.

4.) Only public vehicles




If the wrong type of fuel is used, what should you do?

Q SEHPH

> D,

1.) Drive until it affects the engine,
‘)) then take it out.

=

2.) Drive to the fuel station and fill
with the right type.

3.) Fill with a cheaper kind to dilute.

)

4.) Replace immediately.




Q SHF
When should the tyres be checked?
b
1.) While running for about 2 hours. 2.) Check it whenever they need it

=D =D

3.) When the tyres are still cool. 4.) While carrying heavy loads

) > D)

v




When the driver sees this sign, what should the driver do?

Q

> D)

Q SEHDR

>

1.) Slow down Increase caution. Steep
hill descent ahead.

2.) Slow down. Increase caution.
Narrow bridge ahead.

o

3.) Slow down. The road ahead is
steep hill ascent.

L D)

4.) Slow down. The road ahead
requires a right diverted lane.
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At an intersection where there is a "Do not make a U-turn"
sign but a traffic official allows the driver to make a U-turn,

5
what must be done? ‘))

1.) Cannot make a U-turn 2.) U-turn if there is no intersection

3.) U-turn according to the order of 4.) Make a U-turn if there is no U-turn
‘)) the traffic officer. ‘)) sign

v
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When a driver sees the "Turn Left Through" sign, what

should s/he do?
b
1.) Slow down the car and turn left 2.) Stop until you get the green light
‘)) immediately. ‘)) signal to turn left.
3.) Stop and wait for people to cross 4.,) Turning left is allowed.
‘)) the street and allow the car from the ‘))
right hand to pass and then turn lel’l._ I




When driving through a shared intersection, what kind of
light signals must not be turned on?

Q SEHPH

1.) Headlights

2.) Low light

)

3.) Emergency light

4.) Dim lights




Moving an injured person with three helpers is appropriate
for what kind of patients?

> D

Q SEHPH

1.) Suitable for emergency.

L D,

2.) Suitable for patient who is
concious.

)

3.) For those who are not conscious.

v

L D

4.) The injured person with light
weight.




When smoke is seen rising from the car engine when driving,
what should the driver do?

> D

Q SEHPH

1.) Drive down the river along the
road.

L D

2.) Notify highway rescue.

)

3.) Park and leave the car
immediately.

L D,

4.) Keep alert and park by the
roadside
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When you drive near a public bus that signals that it is about
to exit its stop, what should you do?

> D)

1.) Turn on the left turn indicator 2.) Give way to the public bus to exit
‘)) signal and wave to let the public bus ‘)

) its stop _
exit first J \

4.) Overtake before the public bus

3.) Flash the lights as approaching
‘) exits its stop

)




Which one is correct for driving?

Q SEHPH

> D

1.) Driving at a speed not exceeding

the limit by law.

v

2.) Overtaking in the tunnel

L D

3.) Drive in a way that obstructs the

traffic.

4.) Drive over the lane diving lines.
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From the pictures, which one is correct?




When the driver sees this road marking, what should the

driver do?

Q

Q FEHSH

> D,

o D)

1.) Do not go straight or turn right. Do
not change lanes.

2.) Drive to the left. Do not change
lanes.

L D

3.) Do not turn left or turn right Do
not change lanes.

> D)

4.) Can change traffic lanes or can
overtake.




How slow or fast can you safely reverse your car?

Q SEHPH

1.) Slowly reverse and be cautious « l

2.) Any speed

L D

3.) Use the speed according to the car
condition.

> D,

4.) Reverse at the same speed as
moving forward.




Q SEHEH

When the driver sees this sign, what should the driver do?

Q

="

8%

> D

13

o D)

1.) Slow down and be cautious. Steep
hill descent. Use neutral gear.

2.) Slow down and be cautious.
Prepare to drive pass quickly due to
falling rocks.

)

3.) Slow down and be cautious.
Release gear or shut down
immediately for safety.

> D)

4.) Slow down and be careful of the
dangers from the oncoming traffic.
The road ahead is a steep hill ascent,
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What is the penalty for driving without a licence?

> D,

1.) Imprisonment of up to 1 month or 2.) A fine not exceeding 2,000 baht

‘)) fine not exceeding 1,000 Baht or == ‘))
both. J l

3.) A fine not exceeding 5,000 baht 4.) Imprisonment up to 1 year

) > D)




What does this road marking mean?

KR
%0t %!

FAVAY

9
>
X

S
QR
RRRRARN!

RS

o
Yo%

%
.0.0,0:0’4
XX 5

8
:’:’
KX
X0

Q)
’0

2e,

Q

N

9,
{
3
9,
X

Q
O

5
&
%070

O
&
%

%

RO

Q FEHSH

>

1.) Do not stop the car inside the

diagonal frame. Do not stop the car,

except waiting to turn right.

V]

2.) All vehicles stop

3.) All types of automobiles can park.

L D)

4.) All types of cars can make a U-
turn




Q SEHPH

What causes the red warning light to appear after a car has

been driving for a while?

> D)

1.) Power failure

2.) Engine overheats V\

)

3.) Boiling radiator.

4.) Fuel empty




Which of the following shows good parking ettiquette?

> D)

Q SEHPH

o D)

1.) Do not obstruct others and do not

violate traffic rules. «

2.) Double park the car

3.) Park over the No Parking area.

)

> D)

4.) Park the car obstructing the
entrance - exit
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When the driver sees this sign, what should the driver do?

Q

> D)

ANAUSH l

1.) Drive slowly and turn left. 2.) Slow down and U-turn when safe.

_ D) = V

3.) Drive slowly and do not U-turn. 4.) Drive slowly and U-turn for cars

=D ©® o

>




Q SEHPH

If you want to drive through the crossroads, what should you

do?

> D)

o D)

1.) Be careful of the car on the left
because it is near your lane.

2.) Watch out for the car on the right
and continue driving.

)

3.) Drive at the same speed.

> D)

4.) Reduce speed and increase caution

before crossing. J




When the driver sees this sign, what should the driver do?

Q

> D,

Q SEHPH

13

1.) Slow down and be careful. Right
narrow lane.

2.) Slow down and be careful of
slippery surface. Do not brake
suddenly.

L D

3.) Slow down and be careful. Curve
ahead.

> D

4.) Slow down and be cautious.
Crumbling surface.




From the picture, the driver A wants to drive straight on,

what must be done?

Y
B

Q FEHDF

> D,

1.) Stop and wait for the car C to pass

L D

L D,

2.) Stop and wait for the car B to pass

first. J

3.) Drive through it.

)

4.) Wait for the car B and C.
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What type of water should be used in the battery?

> D)

-

1.) Soap water

2.) Groundwater

)

3.) Distilled water

4.) Rain water
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What is the penalty for driving with an expired licence?

o

1.) A fine not exceeding two thousand 2.) A fine not exceeding five thousand
) oan V ) van
3.) Imprisonment up to three months 4.) Imprisonment for not more than

‘)) ‘)) one month




Which one is correct?

Q SEHPH

> D,

1.) HIV-infected patients can not
drive.

2.) Diabetes persones cannot drive
private car.

L D

3.) Hypertensive patients should not
drive.

> D,

4.) Short sighted persons cannot drive

public cars.

v




During nighttime, what do you do when you have blurry

vision from the lights of the car driving behind you?

> D)

Q SEHPH

1.) Quickly use the brake to stop the
car

2.) Turn the side lights on and off

)

3.) Adjust the mirror to reflect the
light to other drivers

L D)

4.) Adjust the mirror to a position
that will not blur your eyes




Q SEHPH

Which is the WRONG action to take when your car is sinking
into the water?

> D,

1.) Collect valuable items and wait for
help.

L D)

2.) Wind down the window to let the

water into the car. J

L D

3.) Raise the head above the water
level.

4.) Unlock all doors.
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What does this sign mean?

*
113
*
?, 4
f:ﬁ
10

Q

aaunulyl

> D,

Q SEHEH

>

1.) Zipper Merge VI

b

2.) Left sharp curve then bend to
straight

L D

3.) Right sharp curve then bend to
straight

4.) Left curve
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When the driver sees this sign, what should the driver do?

s

Q

> D)

Q SEHPH

>

1.) Car lane

2.) Pedestrian path

)

3.) Motorcyle lane.

4.) Bicycle path
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When a driver flees the scene of an accident, what will be the

result?
=D
1.) It is assumed that the person is 2.) You will be the right party
‘)) the culprit. V ‘))
3.) No results because he is not at 4.) They will be asked to be a witness
‘)) fault ‘))
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Which of the following is BAD driving ettiquette when
overtaking or changing lanes?

o

1.) Not overtaking in a critical area of 2.) Overtaking with caution when the

‘)) in the Do Not Overtake zone. V ‘)) road is narrow

3.) Always turning on the indicator 4.) After overtaking the vehicle in
‘)) light signals before overtaking ‘)) front, sharply cut away to the left
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Which of the following is the correct procedure to check
your tyre pressure?

1.) Use your hand 2.) Use a tyre gauge.
D D ‘/\

3.) With the naked eye 4.) Hit the tyres with iron bar.

) > D)




Which of the following is wrong?

> D

Q SEHPH

1.) Parking at a crossroads. « |

2.) Slow down at the roundabout

L D

3.) Slow down when passing critical
area

> D)

4.) Slow down when people are
crossing the road.




What do worn or expired tyres look like?

Q FHDF

> D

1.) The tyres will be completely black.

L D

2.) The water will not cover the tyres
when wet.

)

3.) The tyre will be white.

4.) Cracks along the tyre.




-

As you are driving behind a truck and you already kept your
distance, another car overtook within the distance, what

o
should you do? ‘))

1.) Increase the distance even more 2.) Flash the lights

3.) Blow the horn 4.) Start to overtake

) > D




When driving long distances and you feel sleepy, what

should you do?

Q SEHPH

> D)

1.) Speed up to reach the destination
quickly.

2.) Move and brake often to get rid
sleepiness

)

3.) Drive with music to keep the
nervous system awaken.

> D)

4.,) Take a rest, sleep or exercise at the

rest areas.

v




Q SEHPH

What system should be checked after pulling off for 3 to 4

meters?

1.) Brake system Vl

2.) Indicator signals

L D

3.) Any adjustments needed for the
rearview mirror.

> D)

4.) Any adjustments needed for the
side mirrors.
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